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Data Model Error
Y - % %, Dependent variable
X - g %%, Independent
(explanatory) variable
a - e, Intercept
b - # %, Slope
€ — # £, Residual (error)
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60000 3
81000 9

14

® FEFM AKX —HE%:

40000 2 €1
19500/ 4 €
60000 “ TP |3| T e
81000 9 €4

16

#FEHIR: EHEEH

18



WFEMIR: BEEH

HB M0 Tk
B A0 X m 69 FEEX, AR LR AL X KEGAEIEY, T
(1) S m=1nF, EEXRUERY A LTITHY, 25RAEEXYF

AL
f(i% Hk=n 0, SEHEYRIEMXA R TITH, % RIBHYXA
o

TEAEEm =1 R, W4EMEY 69 440 T ik mm X ko 3%
SEMEX ROASEIEY 13 3] 09 25 RAEIFE A C; AEIFCAY AN X k, H
FiAT 59 A E e T ey A K

Cij = XXinVnj

19

WFEMR: BEEHE

SE T 09 4%

X7 | iz X2z Xme

X11 X1z - Xm.l

X131 X1 Xnt ]

Xim X2m - Xnm.

21

EVFAREER

sl EFRE

* JEMERL

Yix1 = Xuxz Bax1 + €nxa

Y1 1%11 €

1x: a €

Yix1 = yz Xnxz =, 21 Baxa =[ﬁ1] Enx1= ;Z
Yn 1 %Xn1 €n

23

HMFEHIR: EEEH

5
5 7[90 101 106 88
s 41 38 27 59

20

HMFEHIR: EEEH

LS 147
I _ 4T
= A=A =
a=4 s .
79

22

BNL PR Al g AT A K 22

#3%:  “HouseholdIncome”( 5 = J \)#=“Ravens.score” (3% A 320
)i 7 /N3 2 #4747 Eisenberg et al., 2019)

(Eisenberg et al. 2019)
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® & =p = SP/SSx = 14/64
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10 3 2.88 12 .014
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1 4 S8=10
2 1
3 7 SS¢=90 -
4 13 Source df SS MS F
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Yhat1= 2.4%1-0.2=2.2

Yhae= 2.4*2-0.2=4.6

Yhats= 2.4*3-0.2=7

Yhate= 2.4*4-0.2=9.4
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SSerror = (1 - r?)SSy = (1-0.64)*90=32.4
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